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Matlab & X
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_ v, = arg mind(y,, v, S ST sffiE

Output: HRMS image MS -
Initialize: Set MS"") « MS, P() « P Al s
Fork=1:7 S(B ﬁl‘iu&'l'%
—~(k

1) Upsample MS™*) 1o get MS( : via GS method

2) Compute coefficient x by iterative ADMM-Pan

3) Compute the pansharpened image by 1\7?8“0 = Ax

4) Downsample m(k) to coarse grid to get D s

5) Compute residual image MS* ) = MS™) - D5

| > | > 6) PAN residual P*+1) = ) - 3N M8, ( ﬁ ti )
Endfor
() = qu, nnC(q) D(p) = lVE M, 7) Compute the final HRMS image: ’
B |¢p| ' h %€ m!mal =Y k1 m(k)
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Wi/\h#ﬁ MBIz, OctaveFFH :
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M (F) RIE(E) BE® sBOW) FEEIH) FE(N)
L: E] ELIERS ’C:\Users\ V"* D

paE S 8 x w%EA 8 X
N pe »

’C:sters/Yong \,‘ 4 ?: >> | A @A E D

bbbbbbb ﬁl‘ ANAE E»‘, ﬁ_

.config v

B X
FilterAD 4T o
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SEEO: BBEAS, BITERF, ARESFFEE
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G oamn - o XE 3 Gl
MEF REE KBEE BOMW EEH FEWN
] L EIEES ‘C:\Users\k’ong v ,!L C
prat Sl g X @wEEQ & x
C:/Users/Yong v‘ ? ~ >> a=rand (3, 2)|
£ ‘ A
.android
.borland
.config v
THER @ X
Filter []
25 % =
< >
wEmHE 3 x
Filter []
exit A
# Octave 4.0.1, Mon Jun 06 21:42 v
UnfltledOSOSOZ vl @ N
& 4 wSEO  Editer  NfH

=
#)3& — /34723 B REALEE [ IBRAL 4 T Fao

MAAL 15 1)
a=rand (3, 2)
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{; Octave
(R REE KBE®EB SOMW EEMH FEN
I h LHEIEF: |C:\Users\Yong v
[ 2 X wSEA
C:/Users/Yong v E *" >> a=rand (3 r 2 )
wad P
£ O
.android
e 0.68480 0.21015
.config v 0.68614 0.49903
TR 5 x 0.23856 0.52888
Filter [ |
1 >>
= -3 4
a double 3
< >
wehE & X
Filter [ ]
exit A
# Qctave 4.0.1, Mon Jun 06 21:42
Untitled060602 vl <
< > | semn Rt 3H
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{_, Octave — O X
IE(F) BEE(E) MBE®) sOMW) #EEIH) FE(N)
L | E | :‘ HEIER: |C:\Users\ v /ﬁ ﬁ
SRR & X Editor &5 X
C:/Users/Yong o /& ‘fi?ﬁ M (F) B (E) View ME (D) iZfT(R) #EH|EI(H)
25 h AN S ~O 2 0oeen -
.android o
{FRm&a>
> .borland FmE> 0
.config v 1 I
TR & X
Filter [ |
= 3¢ e &
< >
mEeHE & X
Filter [ |
clc

eol: CRLF line: 1 col: 1

< > wmEEO Editor &=
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iFiss & X Editor X
C: Users/Yonz V‘ 4 'f’v X (F) H/E\((E) View BED ETR EEMH

=253 Al A E wll i e @e ™ &

Roaming
#P Saved Games fl.m
- Searches 1 A:[ | ;s 4 ’ o B ]
Tracing — - A e -
B videos v & B=L. H,\'—'t"‘»’;'i"r—'
3 C=A*B S$CAHMEMEAFUIEEBHIGR

THER & X
Filter [] 4 |
E=4 3 = EE
A double 3x3
B double 3x3
C double 3x3
< >
wWEHE & X
Filter [ ]
clearab ~
whos ¢
exit
# Octave 4.0.1, Sat Sep 10 09:39:49 21
|ir|1plrog v eol: CRLF line: 4 col: 1
< > wEEA Editor 4
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MATLAB/Octave A H : EERIERE NIfTER e

{_ Octave — O X
MR R®EE KEE FOMW ZEH FEN)
L__ ELIEES ’CI\Users\Yong v ,’& C
ST 2 x wEE0 & X
’ Am= ) - L= 4 v - B ) - | = 4
C:/Users/Yong v‘ ~”l % D ” F
% ~ 7 4 # l
- 1 2 3
aming
#P Saved Games 4 S 6
/- Searches 7 8 9
Tracing
B videos viIB =
IfER 8 x by ‘-‘j' €€ A ) D » é éJ:
Filter [] 2 0 3 k ? /ﬂ
5% = g= 4 1 6 —
A double 3x3 0 5 2
B double 3x3
C double 3x3 Cc =
< >
oome -, 0 17 21
Filter [] 28 35 o4
46 53 87
clearab ~
whos ¢
exit >>
# Octave 4.0.1, Sat Sep 10 09:39:49 21
linprog - S v
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- 15+ TR IRU={(xy)| 0Sx <e, 0 <y <I}FBEHL= 100004 55 9

MFR, NEFEEXEDAN S . DAfhizky=x/e, y=Inx, y=0fF X iz

1 l . . | . P e,1
N ye1 (e,1)
0.6 U
3y y=x/e y=Inx
| D | y:O

0 0:5 1 1.5 é 215 e

o ﬁﬁ .

1. =X H&ER— A=A, thik y—X/e y=Inxg93Z A P& FR(e,1);
« 2. X DESEFEF X IHU={(x,y)| 0<x<e, 0 <y <1},




51 BREX B IR AL

Ty
« SCIGEA -
o 1. AT SR 17 A[0,1]1X [BI¥ S D a1 EX.
A

& x=ar, War}[0,a]X 8] =595 HEENEL
* rand 4 = 4 0-1[X [8] 135 53 7o 4L 20 A9 sk 25

* rand(1,N)FRR=ELTNIIB— N BV E B £.

* exp(1)IR[E] B AE £e.

© 2. % L)

Jeplot('fx',[xmin xmax ymin ymax])& X ;

* 3. =3 = 0] Aplot(x.y, ).




51 BREXEHIEETIR /LR wR A

1. SHXEDR A RIASFH L ZiL5R: y=x/e, Hi1 5T =Inx(Blx=e").
D={(x,y)| 0 <y <1, ey <x <¢ }
C=exp(1); ezplot('x/exp(1)',[0 C0 1]), hold on
ezplot('log(x)', [0 C0 1])
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2. EXBUFFENIIZ = U={(x,y)| 0=x <e, 0 <y <1}
N=10000; x=C*rand(1,N); y=rand(1,N);

3. HER RS indI H DR R BV EE I Hy, yF Y T8, ARG HIXER =
idx=find(x>=C*y & x<=C.7y); %% 2| % 7= [X 3D & /2 F 2,y 89 T 4T

D={(x,y)| 0 <y <1, ey <x <¢ }
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- BRI :

close all

C =exp(1); % F & #expty & A R & £02.718...
ezplot('x/exp(1)',[0 C0 1]), hold on
ezplot('log(x)’, [0 C0O 1])

axis([0 C 01])

N=10000; % [ L% = A4~ 3%L

x= C*rand(1,N); y=rand(1,N);

idx=find(x>=C*y & x<=C.My); %% 2| 7% f£ XX D 2 /2 2 2%,y 89 T AT
plot(x(idx),y(idx),".") %7 F plot4 & % & 20 K%
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FEET (Smin):

© UL 2 IR AR CEU=(0y)] Osv<e 0 <y <1} AEEHLIZ A 10000 T 249 247, 1) fissss
L BITETER HD M, D thy=x/e, x=e, y=0FT B X i; 2) F{irit X HDMEFR.

TrEL S Pe)

X=e

AN k | 2 © €
c 1. =FHEBA— 1B =B, % y=x/e, y=efy3Z 2P FR(e,1);
« 2. XEDESHEFEREXIFU={(xy)| 0<x<e,0<y<I1}H,
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B REFE :
— MNREREZ DESIMANERIE, BEL-N—SMreE i %EiRA
2%, rABEN¥ER, thEIRE. E%]%%Eﬁ 9] %ﬂlﬂ_

(x =r(t—sint)
y=r(l—cost)
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StMOZE|2 ey, KSMBYEFUIERR A E LRI —HE.
KBS  FRIERTEREEZ—HMETE (0<t<2n) .
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fBl+2 . BE&FESLLE
T

2. LHEETHE : FELAHESEHNEMNTE.

RERIFEAE AR, KMERRAXY), RIEZ)E RYETEPR(XO, v0).
o] §Ix0=X+a sint, yo=r, FEMNTE (x—x) +(y-r) =r".

PR alEg

. ‘ = [x=x.+rcos@
TR THZENS KR [T 0T

y=r+rsinf




B2 . BMESE LR
A2 5 5= W, X5 R G5
1 r=10; t=linspace (0, 2%pi, 100) ;%4% ) A & & # ik
2 X=r*(t-sin(t)): Y=r*(l-cos(t)) ;%it H £ & —# 53 & 69 L Ax
3 for k=1:length(t)
4 hold off
plot (X(1:k),Y(1:k), ., linewidth , 3)%% 4|42 % £ 3 4% &
x0 = X(k)+r*sin(t(k)): yO=r; % &y
x1 = x0+ r*cos(t); yl=yO+r*ksin(t); % [EAJLFR (x1, v1)
hold on, plot(xl,yl, linewidth ,3) % %R
axis ([-r, (2%pikr+r), 0, 2%r]), axis equal
10 set (gca, fontsize , 14,  linewidth ,3), pause (0. 05),
11 end
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1) AR R B ERTR)

2) help, editfi
3) BHARAMS, a0

a) BB ; b) help; ¢) A A »
4) 05 1 RIBZRY, RIEBMAREE




